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HUBJRECT | ENGLISH

Time : 3 bas WINT - Al

General Insiryctions @

Read the guestions cargfully,
Number the answers as glven in the quesiion paper.
Write the answers in a neat and clear handwriting. )
Write the answers in complate sentences,
SECTION-A (READING)
Read the passage given below and answer the questions thal follow : (7

A mighty king ruled the kingdom of Roshanpur and wanted his prople to be
happy. He was worried because he did not have an heir to be his successor. In
arder to find an able and honest person to rule Roshanpur afler him. he disgutsed
himsell #s a beggar and sneaked out of the palace as night fell. He reached v
nearhy markel and aceidentally fell into a road-side pit. Soon. a group of traders
crossed the place bul refused to help him. A batallion of soldiers passed by and
remarked. “We do greater deeds and protect the borders of the kingdom. It is nol
right for us lo rescue an insignificant person like you™. Two farmers came dowrn
the road chatting away while returning from the ficlds. They looked at him and
said, “You betier try hard and come oul of the pit”, A group of shoppers dressed
In their best attire came by and heard the helpless king's ery. They said, "We will
spoll our clothes and hands”. So they refuseil lo pull the king out of the pit. The
king gave up hope and realized that there was no kindness left in the world, Just
then & young boy passed by. He was shocked to see an old beggar etrugpling in
the pit. He hrought a rope and lowered 1L into the pit. The other end was held
tightly and he asked two passcrs-by to help him. As goon as {he king was reseuetd,
the bay gave him some water to drink. The king discovered thal the Loy was an
arphan who slept under the peepal tree in the heart of the markel anl worked in
a small shop to earn a living. The king had found his helr? He took him along (o
{he palace and soon coronated him as the prince in a glittering ceremony.

il  Who disguised himself as a beggar and why? ]
[} What was the remark given by Lhe shoppers? (1
(1) What did the king realise when nobody helped him? ()
iiv] How did the boy help the king and how was he rewarded? (2}

v}  Find words from the passage that means the same as piven words | (2xb=1)
fa) change in appearance to prevent recopgnition
(bh) wearing a crown
(13-1)



o)

Read e poerd given below and aneya | b iu [} il

The day rejuiced in ETTONY
ol & king's return [rom extls
The town kept awake, ai
filled with smoke and niglht
tipped in crackey nolse,

| kept watch on the ol lamp

its lame moving in afr nervously
under the fun. To bless my home
the Goddees of weanlih

would tip toe in, any time,

The dog was restless-barking

with renewed anger on each

bursting sound. Ear plugs or muzzle
didn’t help to keep him quiet.

Some crackers flew to sky, some playud
an grownd like a hungry lire, Dirds
darted blindly between burning sparks,
In confusion they erjed

adding to a dealening fright.

My watch lasted ane night

The dogs didn't sleep for many nighis,
Birds flew helter skelier

having lost their sense of time.

It's been a month sinee the nighi
of auspicions turns

The towan Is still bursing slow
celebrating its surplus returns.

[l Why Is Diwali celebrated in Indig?
(i) Who does the poet cxpect to visit her home that night?
liii]  What was the behaviour of the dog on the Diwall night?
(W) How did the birds react to the liring of crackers?
vl Find words from the poem which mean the same -
fa)  bright light b)  extra
SECTION-B (WRITING)

(1)
(1)
(1]
(2

(2x¥=1)

Write a letter to the Principal of your schaal secking an apology for your

mishehaviour.

(3-2)

(5
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SECTION-C (GRAMMAR)
Complete the senlences wikh conedt question Legs. 2%l
(a) She has nol taken the necessany precaviion
b} Intelligence withoul hardwork 18 uscless.
Rearrange the wards to male meaningiul seniences. {2x1=2)
{a) ynu.flnldfﬂl:fstm}',-'hy,-’what.-’1h1:,-'1!'-.lfmm”ﬂlfﬂl
) wiﬁcl}ffmvefuurmsmg.Fwi:jf:nmmurnﬂm.Fuuuhﬂmmlfuyfum,|fr¢5m1.rr-:-u

Fill in the blanks with colleclive nouns. (2x1=2)
[a] My younger brother was amazed toseethe __ ofstarsin e sky.

) Therewasa ____ of people near the accident prone are.

Fill in the blanks with suitable prepositions. . [4xVa=2)
A man-was lond _ mangoer. Everyday the hirels came and sat f S
the trees. The man did not scare (hem but was kind them-and fed
them __  pgmains.

Rewrite the following seniences inlo their passtve forms. (2x1=2)

la) The government is introducing several new schemes.
(b)  Who organised the function?
Fill in the blanks with correct degree of adjectives. (Zx1=2]

fa] This 18 the _ story I have ever heard [rom my grandmother.
(interesting]

(k) This excercise 1s  than the one we did yesterday. [difficult)
Choose the most appropriate verb and fill in the blanks. (4x'2=2]

fa] Martha is a kind of woman who is always willing to [lending/
lend) a helping hand.

o) Villagers ____ (visit/visits] the shrine regularly.

(¢} Thescawaves jare lashing/i= lashing) on seashore.

i A pack of wolves lattacked fattacking) a flock of sheep.
Change the following into ndirect speech. 2x1=2)

fa] The teacher said to me, °I ke the way you sing™.
)  The Principal said to the students, “This year our school has shown o good
result in the final examinations.”

(B-3



(314, Fill in the blanks with sriiftanle coniunclins

1 | A CATIALD WAR g R ithe armere coild fed wimier fou
W0y LAE Loaster s nol working __ _ the fuse has Blown ofl
e You will ___ ___ have o take a bus vtk i b

@10, Fill dn the blanks with suituble adverhs, |
{a) Floods bave _ affected the rall traffe ’
(b . 1 wa= . Impressed by her work. s
SECTION-D (LITERATURE)
6. Read the extracts given below and answer the questions Lhat follow -
Al “Reaping amd singing by hersell; [dx1=3)
Stop here, or gently pass!
Alone she cuts and binds the grain,
And sings a melancholy strain:”

(2]  Who does ‘she’ refer to in the above lines?
(k) What was she doing in the valley?
e} Who does the poet tell to stop or gently pass? Q2
(5]  “Mummy. she usked one evening while [x1=3
helping her mother In the kilchen 02
~ after dinner, “do you think |
could ..." she paused nervously. ...
[ could have some exira money tlomorrow?™
[a] Who does ‘she’ refer (o In the above lines?
() Why did she approach her mother for money?
fe]  Why was she nervous while asking for money?
@17, Answer the following questions in 30-40 words each : (2x2=4)
[3)  Prospero had called Antondo as his Talse brother, even then he forgave
him. What does this tell you about Prospero’s character?
by ﬂfhndlacnumged Manjula from painting and what inepired Munjulu to take
up painting again?
Q18. Answer the following questions in 30-40 words cach [2x2=4)

(#)  What {s the contribution made by the nightingale and the glow-worm in
making the world more beautiful?

(b}  Why do you think Wordsworth compares the Solitary Reaper's song with
the songs of the Nightingale and the Cuckoo?

2

(B-4)



{a ’1:;:-||1|.|.:i"-|'t'] the given guestion in 80 100 words
With reference to the story "The Homeroming compars and conbrsasl Pl s jife
in the village and in Caleatla,

[
How did Hughie help Trevor's model and how did the model help him in retum?”
Explain with reference to the story The Model Millionaire'.

20. Answer the given question in 30-40 wouds ; 12]
In the poem ‘Home They Brought Her Warrlor Dead' the widow of the warrior was
not showing any reaction. What two actions were performed to make her ory?

§21. Answer the given question in 70-80 words ; 4]

ial  Soapy performed various aclions to gel arresied. Describe the umbrella

incident and why did the man refuse to eall the police? When was he finally
arrested?

OR

() How canyou say the soldier was the ‘noblest encmy'? Discuss with reference
to the poem ‘Home They Brought Her Warrior Dead'.

(322, Answer the following question in 30-40 words (3)
Cn what conditions was Crusoe willing to save the captain's life?
023. Answer the following question in 80-100 words : (5
Crusoe was all alone on the island, but finally he got himself a companion. Friday.
How diid he meet him?
OR

What was the final plan made by Crusoe and Spaniard?

(13-5)
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5A-2 (CLASS-VID) A2016
SUBJECT : MATHEMATICS

Time : 3 hrs MM : HO
General Instructions :

i)
ii)
111)
iv)
v)

Ql.

@2.
Q3.
Q4.

Q5.
Q6.
Qr.

Q8.

Q9.
@10,

Q11

All questions are compulsory.

Read all questions very carefully.

Questions 1 to 10 carry 1 mark each.

Questions 11 to 18 carry 2 marks each.
Questions 18 to 28 carry 3 marks each.
Questions 28 to 34 carry 4 marks each.

The ages in years of 12 teachers of a school are :
28, 32, 54, 42, 42, 35, 37, 35, 55, 45, 41. 34

Find the rangde af the Affes of leachers,

Write the numbur ol faces and edges of a cone,

Find 35% of 600,

What is the additional information needed to prove
that AABC = ALMN by SAS congruence rule, if
AH = LM and BC = MN?

Write the standard form of 59000,

fx=1 y=-3 [ind the value of 3x - Sy.

Write the given statement as an egquation

one-third of number ‘s’ adderd to 4 gives 15.

Write the numerical coefficient of ~3x’vz.

Find the value of = [=1)'7 + [-1)"%,

Write any two letters of English alphabet which have
reflectional symmeiry about a vertical mirror,

Cheek whether the value given In the bracket = a
salution to the given equalion or not :

2x + 3 = =T [x= -B]

]

]



Q12.

213,

14,

Q156.

Qle,

Q17.
a1s,

19,

Q20.

a21.

In a bag there are 3 red marbles and 2 blue mark_ s.
Find the probability of getting a hlue marble, Il a marbie
is drawn randomly.
After rotating by 120° about a centre, a tigure looks
exacily the same as its original pasition. At what other
angles will this happen lor the Agure?
Represent 2x° - Say* by a tree diagram indicating terms
and factors.
What cross-section do you get when you give vertical
cut to the following?
a) aball (b) & die
Give first the step that you will use to separate the
variable and then solve the given equation :
7Tx=-5=16
Which is greater : 3 x 3' or 3"+ 3'? Give reason.
On a particular day, oul of 50 students in a class, 8
were absent. What percentage of the students were
present on that day?
The marks obtained by 11 students of a clazs in a
test are given below :
25, 7. 14, 22, 20, 18, 22, 22, 33, 14, 23
Find the (a) mean marks. (b) mode of the data,
(c) median of the data.
A shopkeeper sells an article at a profit of 108, If the
article costs him T 1960, find its selling price.
Write the order and angle of rotation of the following
figures:
{a) Parallelogram b)) Square
le] Equilateral triangle

(2)



{ 2. Solve the given equation by Lrial and error method
13x-15=24

Q23. Construct a APQR, with FQ = QR = 4.5 cm and
PR = 5 cm

Q24. Subtract :
5y = 208 + Gy + 4 from 72" + 2 - xy + 9

Q25. In the given figure, PS and QR intersect at O and
OP = 0S. 0Q = OR.

P d
8 5
(a) Write three pairs of corresponding parts that are

equal.
(bl Is APOQ = ASOR? Give reason.
23 x9? x 37
Q26. Simplify using laws of exponents T
027. (a) Convert each part of ratio Lo percentage :
1:4
(b) If cost of 15 balls is T 450, find the cost of one
Lall.
G26. Stmplify : (2 +a-a%) - (6- 32 + 4a’) - (3 + 5a + a')
(29. Construct a AABC. in which /£B = 70°, £LC = 60° and -
BC = 5.4 cm. Also, write the steps of construction.
030, () Solve the following equation :
dxr=13= 14

(3



(b]

Express 1800 as power of prime [uclors.

(341, Prom the sum of Sy* - 3y + 2 and -8y? + By + 8 subliact
¥4 Ty -4
Q32. In AXYZ, XY = XZ and XL 1L Y&

(a)
(bl

Is AXLY = AXLZ? Give reason.

Iz YL = LZ? Cive reason.

X

-y

Y

L

Z

Q33. Radha borrowed ¥ 50,000 (rom her friend at the rate
of 8% per annum for 5 years, Find interest and amount
she has to pay after 5 years.

{334. The number of cycles produced by 2 factories during
5 conseculive weeks is given below :

Week First | Second | Third | Fourth | Fifth
Factory A | 200 330 100 400 100
Factory B | 250 500 350 300 200

(@] Draw a double bar graph by choosing an
appropriate scale,

(bl

Write one benefit of cyeling.

(4]



8A-2 (CLABS-VII) 2206

SUBJECT : INTEGRATED BCIENCE
\\‘ime 2

Y2 hrs MM : 80

General Instrucrions :

i
i)
i

Q1.

{32.

This paper consists of three section A, B and C.
Marks are indicated ugainst each guestion.
Draw neat and well labelled diagrams wherever
required.
SECTION-A (PHTYSICS)
Anawer Lhe lollowing in one word or one senlence :
(1x4=4)
la) Sanjana measured the temperature of hoi water
using thermometer 'X'. She recorded the
temperature ag BO'C. Which type of thermometer
did =he use?

(b) Hot water poured in a stainless steel glase coaols
faster than hot water in a plastic glass, Give
Teagnn,

(e} Sarika connected a toaster. a microwave gven
and a blender o 4 single socket. She observed
sparking in the socket, Identify the cause.

[d} “Advanced technology has helped in minimizing
the destruction caused by a cyclone”, Juslify the
ahove statement by giving one example.

Fill in the blanks : (1x4=4)
[a) i the fastest mode of heat transfer,
(bl Compact Maorescent lampa {CFL8) are hetier ihan
bulbs as they praduce _______ heat,
ic) Hot alr balleons rise up becouse warm air is
than cold air.

{d) Calmarea in the centre of a cyelone is the
of the storm,

(1)



Q3. Give one technical term for the following : (ix2=2)

{al  Mark on electrical appliances that ensures salety
anil less consumption of electricity.

b} During day tme, cool breeze that blows [rom
sea to land.

Q4. Answer briefly : (2x3=05)

(al Ajay purchased a black eoloured shirt and a white
coloured shirt. Which shirt should he weor in
winter season and summer season respectively?
Give reason.

[b] An electric fuse and a minfature circuit breaker
(MCH), both are deaigned to protect electrical
appliances from excessive flow of current. Which
is a better cholce and why? T

) Look at the following figure of clintcal
thermometer.

E 155‘-311 ﬁ*l-l'i L I-u."‘c\
/

A a3
{i] Label (1) and (2]
() Write any one precaution to be Laken while
nsing it.
Q5. Answer the [ollowing questions : [3x2=6]
[a) Akshita was playing in a playground. Suddenly
she obeerved lightning followed by heavy rain

and thunder.
(i) Identify the above mentioned natural
phenomenodn.

(if] Write any two precautions that pne should
take during this phenomenon.

(2]




(b

Oihserve the following Hgore

[ .
40mC
B
(1) What will be the direction of heat transfer?
Give reason [or your answer.
[{1) Name and define the process of heat transfer.
(6. Answer the following (3+2=0)

{al Draw a well labelled diagram of an electric bell.

(bl Will the compass needle kept near to the given
circuit show deflection, when the circuit is clozed.
Wwhy or why not?

@ Rulir
®
Favery Soibch
SECTION-B (CHEMISTRY)
Ql. Answer in one word or one sentence @ (1xd=4)

() Formationof curd isnota physical change. Give
TEASON.

(b} Roshni extracled a natural indieator rom china
rose peluls. What colour change will be ohserved
on adding it te lemon julce and why?

[c) Define drip irrigation.

idl How does ozone act as a natural shield agalnst
ultraviolet radiations coming from the sun?

Q2. Fill in the blanks : [1xd=d)
fa) Shape, size, colour and state of a substance are

called its propertics.

3




(h) Spinach coniaing _ acid .

(e} Water found below the waier table Y called

(] When ________ I8 passed through lime waler, {f
turns milky duc te the formation of caleium
carbonate.

3. Give a technical term for the fellowing : (1x2=2)

[a) The process of depositing a laver of zing ¢n Iren
articles to avoid rusting.

(b) Special type of substances used to test whether
a substance iz acidic or hasie.

@4. Answer briefly : [2x3=6)

(al Whal are the reactants and producia of a
neutralisation reaction®

(b) Painting of iron articles prevents them from
rusting. Justify. Wrile a word equation to represent
the process of rusting of iron.

(e} Chandni is a class VII student in a government
schnaol. She always lells her mother to avoid
wastage of water as it is a preclous resource.
(il Write any three ways by which water gets

wasted knowingly or unknowingly in our
daily activities,
{iii Which value iz ehown by Chandni?
@5. Answer the following : (3x2=6)
(a) (i) Complete the given table.
5.No| Test solution | Indicator Effect Nature of
substance
1. | Commen salt | Litmus Neo change
solution
2. | Vinegar Phenolphthalein | Celourless
3. | Lime waler Turmeric Basic
4. | Sugar solution| China Rosc Neutral

(4




iy Define neutral solutions.

(b} Change A -»change of dry leaves and animal
wasie into compost.

Change B —=llow of LPG (liguified petroleu g2 u)
from the cylinder to the pipe.

[y Classtly the above given changes 82 physical
amed chemical changdes.

(il Differentiale between physical and chemical
changes.
Q6. Answer the following : (5% 1=0]

Ef‘_—e’; D
._.__‘__q? o :-:'-iﬁ
\\ e

NS pos

2] In the given figure label parts (i) and (ii). Define
the part labelled as (1)
(b} How can water be obtained from parl labelled
as (1?7
[c) Define the process by which pround waler gets
recharged.
SECTION-C [BIOLOGY)

Q1. Answer the following questions in onc word or one
sentence: (1x4=4)
(a) Veins have valves. Give reasorn.

(b) ‘X is the layer of sofl profile that is hard and
difficult to dig by a spade. Identify X',

(3



32.

Q4.

e} Define heart heat
id} Drumetick : wind dizpersal :: coconul ;

Fill in the blanks : [1x3=3)
lal ‘The Mower is known as the part of a
plant.

(b The removal of land surface by water, wind or
jcejs knownas .

[¢) ©On reaching the tissues, arteries divide further
into extremely thin tubes called

Give a technical term for the following : (1x2=3]

{a) The process of removal of wastes produced in
the cells of the living organisms.

{b} It is the process of production of new individuals
from their parents,

Anawer briefly : [2x3=0)

{a] Corn produces unisexnal flowers while mustard
produees bisexual flowers. Differentiate between
the flowers of the two Lypes.

[b) Ram Swarocop plans to sow wheat in his feld
which has clayey-loamy =oil. Kishan Raj tells him
to sow cotton bul Ram Swarcop does not agree.
They invite Nikhil, a soil expert to see il it is
sultable for growing wheat. Nikhil's lesi reveal
that the =nil Is more suitable for wheat rather

than cotton.
(il  Whyis clayey-loamy sell suitable for growing
wheat?
(i) Which soil is hest for growing cotlon and
why?
e} The given figure shows an B
instrument Y used by Y ke a0

doctors. ldentily * the Lii_lfrp-'-lqr{.

instrument and wriie iis
function. Label its part {i).

(6]




Q5. Answer the following :

lal [nan experfment on percolation rate
. Rajat observed Lhat 1000 ml of waler
through the soil sample n 23 minules.

L

his garder
percolated

[Exd=hl

ol water in

Calculate the rate of percolation of walel.

(bl Ohgerve the given diagram of humian excretory
system and tdentify ihe labels i 1, il and iv.
Also write the function of part labelled as 1.

@6. Answer the lollowing :
|a) Deline vegelalive propagation,
k) Enlist three advaniages of vegetative propa gation '

(5x 1=5]

in plants.
fc) Complete the following table :
5l. | Plants Vegetative part used
No. for reproduction
1. | Hose
2. Leal

(7]
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$A-2 (CLASS-VII) ' 3/2016
SUBJECT : SOCIAL SCIENCE

Time : 3 hrs MM : 80
General Instructions :

i)

i)
i)
in)
vl
i)
vii)

viii)

Ql.

Read all the questions carefully and number the

answers according to the guestions.

Multiple choice question is to be answered in the

answer sheet only.

Write all the answers in neat and legible handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2 and

3.

Attach the maps properly to the main sheet.

Questions carrying 3 marks should be answered within

60-80 words.

Questions carrying 5 marks should be answered within

80-100 words.

Each question has four options out of which enly one is

correct. Choose the correct option and write It in the answer

sheet. [ 1x6=6]

i Whoconsiructed the temple of Jagannatha at Puri?
fa) Akkamahadevi (b} Allama Prabhu

{c] ShahJahan id) Anantavarman

(] Name the capital of the Marathas in the 18th century.
fa) Poona {b) Punjab
f¢) Awadh {d) Hyderabad

(i} Women all over the world come together to celebrate
International Women's Day on

fa) 10June b 15 July
] 8March {d} . 21 May

(1)



(iv)

v}

Tehrl dam |5 located in .

[a) Punjab () Madhya Pradssh
[e] Uttar Pradesh [d] UI:II"ElkhEt'IdL
Which reglon s known as ‘Orchards ol the World™?
[a) Tropical Grasslands

[b] Temperate Grasslands

() Temperate Deciduous Foresis

(d) Mediterranean Reglon

It 18 the largest river basin of the world®. [denify
it.

(a) Ind_uE basin

(b) Amezon basin

[z} Godavari-Mahanad! basin

{d) Ganga-Brahmaputrabasin

Correct the following lncorrect statements ; ( 1xGmi)

(i)

(1)
(i)

(iv)
(v
(vi)

Ramcharitamanas was written by Guru Gobind
Singh.

Manipuri 13 & famous dance form of Tamil Nadu.
Producer is a person for whom the goods or producta
have been made.

The Tawa Matsya Sangh was formed in Bihar.

The grossland in Brazil is known as Pralrics.
Monioe is the staple food of Alrica.

Answer the following questions in one sentence cach:

[

(i)
[m}
{iv)

(1x8=8)
Mention the two types of taxes levied by Shivall on
Mughals.
What do you understand by Sati?
Who were Alvars?
Shewas the irst womean driver in Northern Rallways',
Who is she?

(2]



(v} Name the aulhor of Sultana's Dream.
fvi] What iz meani by Lthe expression “Power over ballol
i box™?
vil} Which place is known as the Cold capital of the
World?

(vili) Why are Prairies known as ‘Granaries of the Workd ™
Q4. What were the important architeciural [ealures of the

temples of Bengal? (3
5. Explain the major beliefs and practices of suils. (3]
6. ‘He was the founder of the Hyderabad State’. Identify him

and discuss any two policies adoptad by him to strengthen

his position. (1+2=3)
Q7. Briefly explain the concept of stereotypes with the help
of an example, (3]
Q8. List any three demerits of advertisements. [3)
Q9. ‘Some groups or communities in India are facing
discrimination’. Explain. 3

§10. These type of grasslands are found on the either side of
the equator and extend tll the troples’, Identify and write

Lriefly about it [1+2=0]
{11. Why is Ganga-Brahmaputra basin thickly pepulated? (3}
@12, Diseuss the climatic conditions prevailing In Pralries. (3}
@13. Write a short note an the Iollowing : [3+2=5)

{al Evolurion of Kathak as a dance,

(b  Mindaiure painlings
Q14. Who were sikhs? How were the sikhs organisad in the

1th century? [1+4=5)
Q16. ([ml What do you mean by Women's Movement?

[b)  Enlist the various strategies acdopted by Women's

Movement to fight against discrimination. (1+4=5)

(3



@16, These type of loresia are called as "Tajga'. II:I|=-nI|1I'1'..r and
brielly discuss. (! ¥=0)
@17, ‘It |s the practice in which (reea are cut doon. 'nlf'r;t and
ashes are mixed In the soll’. [dentlly this practice and
briefly write about it. (1+4=5)

Q18. Attempt the following maps :

la)

[B]

On the provided political map of Indin, name and

mark the following : (1x4=4]
i) State famous for miniature paintings called
Dasohll.

[f) Animportant state assoclated with Shankara,

(iii) A riverine plain famous for plenty of rice and
fih.

(W) A city carved out of the old Mughal provinces
in the 18th century,

On the provided political map of the World, name

and mark the following : {1xd=4)

() Mountains bound on the west of North America.

(f) Temperate Grasslands ol Alrica.

(1) Anarea drained by Amazon basin.

(iv) Largest fresh water lake in North America.

(4]



8A-2 (CLASS-VII) 3/2016
SUBJECT : FRENCH

Time : 8 hrs MM : 80
General Instructions :

1]
(i)
(iid)
(il

Al.

Al.l

Al.2

Read all the questions very cargfully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting,
Write the answers in complete sentences.
SECTION-A [COMPREHENSION ECRITE|
Lisez :
Le dimanche de Marie

Awjourd hui, c'est dimanche, Je vals au zoo avec mes amis.
Iy a beaucoup d° animaux dans le zoo. Nous regardons
un grand éléphant et un petit singe. Le singe est trés
drale et il va d'une branche 4 lautre. [y 2 un tigre aussi,
[l est grand et beau. Maintenant, 'egt 'heure de manger
nourdiure. Nous apportons notre déjeuner. Mon amie,
Sylvie mange un burger. Cest son déjeuner favorl! Et Aman
et moi, nous mangeons du popeorn et une pizza. Nous
finissons notre rapas et nous renirons a la matson. Clest
amusant d” aller au zoo avec mes amis. C'est formidable!

DMtes Veal ou Faux : (dx1=4]
[l  Le tigre est grand et laid.

M) L éléephant est grand.

(i) Marie va au oo avec ses amis.

()  Tous les trols finfessnt keur repas el rentrent & la
malsor,

Repondez : (3x1=3)
[l  ©On0va Marle? Avec qul?

() Quest-ce que Sylvie mangs?

(i) Quels animaux regardent-ile dans le zoo?

§1]



Al.3 Donnez Ninfinitlf du verbe : (2x'4a=])

(1] mange: - by raise &y
AZ. Liger:
A travidd
Marie : Salut! Ca va?
Zod Salur! Oui ¢a va bien, merel el toi?
Marie : Cane va pas bien. Je suls malade.
Zod I faut aller chez le médecin,
Marte :  Mals comment? Ma mire n'est pas i la matson.
Zog O est-elle?
Marie : Elle est & I'école. Elle est institutrice,
Zoe Ei ton pére?
Marie : Il est collfeur. Alors, 1l est auss] au travail.
Zoi D'accord! Ce n'esl pas grave! Jappells mon
pére. 1l est médecin, y
Marte : Mercl beaucoup! Et ta mére? Elle est aussi
médacin?
Zoé @ Nonl Elle est chanteuse,
Marie : Bien! C'est génial.
A2.1 Répondez: (2x1=2)

il Quelle est la profession des parenls de Zoé?

(1 Qui esi malads?
A22 Cochez la bonne répongs : [3x1=3)
{a)  Le pire de Maris sst
{1} médecin () eoiffeur
{ii) chanteuse
) La mére de Marie eat
- (fl  institutrice (] pilote
(1) professeur

i2)




i

(6] 1l faut aller chez le

8 1} medecin i) malson
fiii] malads
A2.3 Dites 'Viral’ on 'Faux' (2%]1=2)

[m) Lo mere de Marie pn'est pas & 1a madson.
(Bl Zoé st malade.
SECTION-B [EXPRESSION ECRITE]
Bl. Regardez les Images &t répondez. (24x2=5)
Al : " :

()  Quel sport font les garcons?
(1)  Almez-vious ce spori?

B M) Que voyez-vous : -

flans "'mape??
(i) Que boivent-elles?

[3)



B4,

Ha3.

CL

C2.

Metiez le dialogue en ordre. 5

A, Blen! Quelle est tu prolession? I‘L
A, Jesuis artiste
A. Sahlur! Cava?
B. Bon! Au revoir!
H. Jesuls chanteur et ol?
B. Salut! Cavael tof?
A Aurevoir]
Nommez et dessinez cing moyens de transport. (5]
Quesi-ce qu'on achéte? (denx) [6x1=5])
(a) alaboulangerie
b} Alacrémerie
() aumarché
([dl & lahoucherie
(e] 4 la poissonnerie
SECTION-C [GRAMMAIRE)
Mettex & la forme impérative : (Gx1=5)
(il Turedardes la telg.
(]  Tuneie couches pas tard.
(lli) Vous [aites le devolr.
ilv] Nous nous levons L.
[v] Vousnesortez pas.
Complétez avec I adjectif démonatratif : [10xbi=5)
(ce, cette, cet. ces)
) Jaime___ joli stylo.
(] Il choisit _ cravale, pas chapeau.
{181} vidiures sonk grandes.
[iv) jours, 1 fait beau en Inde.
v 11y aun bon restaurant dans miagasii.

(4)




[+ | P manteau gris est cher.

1y | e R phatts raontrent 12 fam

(||} R, tarte est deleiense.

lix) Tooimes - acLrlee.
g, Trouves la guestion

[y Clest meL AT

(i} Nous allons 4 Delhi.

) Je vals au cinéma e samedt

CA. Mettez les phrases snivantes au negatif :
1 Les filles sonit allées au marché,

) Tu as parlé avec 15 amis.

(i) Ma mére a achele cés cahiers.

5. Choislseez la bonme réponse -

ifle (¢ ma lante.

[Bxl=3)

(@ 1=

(3x1=3)

Iy Nous (avons tnl/avons finil) notre devoir,
. | @ Vous _—— [avez prendu/aves pris) des livres.

wy Eile fest allée/a allé) & I'écale.
g8 Conjuiue e verbe Prier” @ 1 alfirmatif),

¢7. Completez avee Savoir ou connailre
[ Elle__TTFeNE
(111 Y [ J— danser.
CH. Retrouves les phrases .
(i) mahnnkul,-"g;andﬁfﬂﬂtﬂ.
) des/ lla/achetef livres/onl.
eo. Corrigez 1a laute :
{)  Cette femmes somt belles.
() Nous avez #erit une letire.
C10. Chassez l'intrus.
)  vin, lait, café, viande
i) pris, ete. avolr, finl

5

(31
(2xi=i)

(2x1=2)

(2%1=2]

(2x1=2)



o1

SECTION-D [LA CULTURE ET LA CIVILISATION]
IMtes Vral ou Faux : (5x1- )

H

Nous devons respecter nos parenis.

) Manuel bhoit uns limonade.

[t} 1l ne faut pas bolre d'eau,

(v}  On dolt élre sympathique Aux animuous.

(v} Mme Lavigne achéte un gateau aux fruits.

Choisissez et dcrivez la bonne reponse © Sx1=5)

{ Lapaleticcst une sorte de . [checolat/ gatean/
frualt)

[4) Mme Lavigne va acheter des fruits. (a ia
boulangerie/an marche/a la boucherie]

(] Manuel el Anessh vant des Laurent. (4
Ihatel/au café/a Mhapital)

(iv] La mére de Manucl a invité 4 diner. [des
amis/des grands-parents/des parenis)

) - T . Manuel et ses amis sont allés au parc
d'attractions. (l& week-end prochain/le week-end
dernisr/le mols dernier).

Reliez : (Gxte=d)

5 0 joue au thidire oy au doéma fa) 11 est musiclen.

(@ 0 compow de la musique. b 1 est bouknger.

@l 1 travaille dans ume baoges. e} Dest bommed affairs

i) 1 fait du pain et des ghlesux. [ st scieue

W 0 travxille dans e millew des affsires. (2] [l exl Inkemalickn.

] I st spleialiste en informatique. if [l a2 ¢afuster

Répondez aux questions : g [2%1=2)

[l  Que fait Mme Lavigne le samedi?

(i Quest-ce que Manuel donne au gargon?

]

"
- il
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8A-2 (CLASS-VII) /016
SUBJECT : COMPUTER SCIENCE

Time : 2 hrs MM : 50
Q1. Choose the carrect answer and wrile It In Lhe answer
sheet : [Gx1=G)
()  Slgn used to represent a string variable
) + i) §
K ? ()
(ii] Ane-mal address cannot contain
(a) Spaces (bl Alphabet
e}  Numbers (] Symbols
() Which virus infects the boot record or master boot
recond?
[a) Warm (b) Bootvirus
[c) Spyware [dl Macrovirus
(iv] Whenwas the firat PC virus released?
la) 1888 (b) 1897
e} 18968 (d) 1987
iv] The exira browser windows of commercials that open
automatically while browsing weh pages.
fa) Add-ups () Dialog box
[} Pop-ups (d] attachmenta
ivi) Statement used to transfer program eontral from

one statement o wother,
(@) GOTO [b) REM
(¢} Print (d) lopul

(1)



Q3.

5.

Answer the following in ene word or ¢ne sentence {Rx1=H)

()  Shorteut ke to terminate an infinite Joop in @BA_.C.

) Virus pamed after the woeden horse used by the
gresk army o conguer the eity of Tray.

(i) MName the founder of twitter.

(v} Who released the first PC virus?

[v) Symbnl which separates two parls of an e-mail
address.

Wil Give the full form of VIRUS.

fvil) Name the virus which was detected on ARPANET In
the early 1970s.

{vitl) Text In e-mail, which I automatically added to our
outgoing mail.

Explain the following : iSx2=10)
i) Internel [orum [ii} Microblogging

i) Worms (v} Cloud computing

v] Spyware

Answer the following : (Bx3=15)

]  How can vou add new contact in an address book?

‘1) Explain the paris of an e-mail address.

(] Give any three possible symptoms of virus in a

('EITI‘IF'IIIET.
(iv] Define If..then statement with the help of an example.

v} Define the following :

(a) Constanis L) Varlahlea
(1] Write a QBASIC program (o lnput any two numbers
and compare them. [4)

12



(il

(i)

i)

(1)

Describe the use of control statements. Give two
examples of control statements. (2)

Identily the errors and re-write the correct
stalements; (2]

fa) IfA«<DBthen print B is greater.
(b) I X2 ==Shreya" Goto C : otherwise Goto [
Shreya wants o be in touch with friends and relatives
online. For this, she wants to create an account on
soclal networking sites. Name any scctal networking
site which she can choose. Also defline social
networking sites. (2]
Riya's computer has got infected with a virus which
leads to damage of the flles and frequent hanging,
Which software ahould she install to galve this jeca?
(1)
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1. State whether these statements are true or false: (112 5=2.5)

a) All plastic can be recycled-

b) Ocean water is always blue-

¢) A black umbrella gives more protection from a white one:

d) One should cover the mouth and nose with a wet towsl to avod mhalung smoke-
¢) Une should use the lift while exiling a building on fire-

2. Identify these winners of the Bharat Ratna. : {1x5=5)

a) india’s first woman Frime Minister
b) Noted economist known for his theories on walfare BCONOMIICS

¢) Dalit leader and chief architect of the Indian Canstilution

d) Eminent industrialist and the first Indian ta receive a pllat's licance

e) Brave freedom fighter best remembered for her role in the Quit India movement

3. Name the following: {1X5=5)

a) The flightiess bird native to America oot TR
b) The country whose capital is Montevideo =
¢) The country where the tango dance onginaled 5
d) Tha Persian {raveller who was the firgl 1o sludy in India

e) The land of Rising Sun




4, Tick Mark tha correct option:

1. The Elephanta Island is siluated close to which cily,

a.NewDelhi - b.Chennai . Mumbai

2. The Lotus Termple is located hera:

a. Chennal b. Kolkata c. Delhi

3. It is the birlh place uf"fwokanamlll:

a. Kolkata h. Bihar ¢. Rajasthan

4, It witnessed a major gas tragedy in 1984:

a. Bhopal b. Nepal ¢. Bhuj

5. It is famous for its pearls and mouth-walering biryani:

a. Hyderabad b. Guwahati c. Chandigarh
3. CURRENT AFFAIRS ,

a) Name the countries affecled by Zika Virus

b) Who insugurated Afgan Parliament house in Kabul?

——— —— e —

c) Name the newly appeinted *Incredible India’ Ambassador,

e —— ==y

d) When is the World Cancer Day celebrated?

@
i\ J

SEalMDEWVA
BLODAL SCHOOL

(1/2X5=2.5)

[}

(1X5=5)

e) Which is the world's first city to gel 5G network by 20167




(b] Describe the weather in the given lines?
)  Why is 'he' deseribed as 3 wicked person?

[-I"'Il “Thal was a turning point in our friendship. Although we shared the same
roam, she no longer came to school with me.” (Ax1=3)

fal Who does the word ‘we’ refer to in the above lines?
(h) What brought a turning point in their friendship?
(e} Why coukln't she accompany the nareator to his schoaol?

18, Answer the following questions in 30-40 words each : (Zx2=4]
(a) Mukul Sharma believed n the spirit of lafr play and healthy competition.
Comment.

bl What wers the two speclal oceasions which were celebrated by the church
bells in the lesson "Candles at Midnight™?

{317, Answer the following questions in 30-40 words each (2x2=4)
(Al What theme is conveyed through the poem The Cold Within™

b} In the poem, ‘Incheape Rock' The Abbol of Aberbrothok was blessed by the
mariners at the sea. Why?

Q18. Answer the given question in 80- 100 words each : i5)
Hve a brief deseription of Jimmy's journey from being a eriminal to a saviour,
OR

‘Candles at Midnight' is a heart touching story of a litlle boy, Costas, who belongded
o a poor family. vet managed to fulfil his long awalted dream by using his presence
of mind. What was his dream and how did he Tulfil it?

{115, Answer the given question in 30-40 words : (2

‘0ld habiis die hard’ is a proverb that holds true '-|'ii.'h Private Quelch. Wriie the
Incldenl to suppert the above statement.

{220. Answer {he given question in 70-80 words : {4)

What mistake did the Frofessor commit during Turnhull’s lecture and how did he
have to pay for it in the end?

OR
The poem. ‘Dallodils’ by Willlam Wordsworth conveys a beautiful message. Elaborate.,
Q21. Answer the ollowing question in 30-40 worrds 3
Why did the Time Travellsr take the camera when he went on his next journcy?
22, Answer the following question in B0-100 words : (5)
How did the Time Traveller find his time machins?
. OR
Describe the Palace of Green Porcelain.
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